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Eleven Plus Verbal Reasoning Worksheet – WORD PATTERNS  
 

QUESTION  

 

 

 

 

Write in brackets the word needed to complete the third pair of 

words. This pair follows the same pattern as the first two pairs 

of words. 

 

 slide, lid   slays, lay     trots, (                   ) 

 
HOW TO DO IT  
 

 

 

 

Change the first word of the third pair to make a new word using 

the same method as was used in the first two pairs. 

HINT  
 

 

 

 

Look at which letters were changed in the first word of the first 

pair, then check to ensure the same method was used for the 

second pair.  

 

e.g. BIG, PIG   BEAR, PEAR  BUT, _____   first B changes to P, 

so BUT, HUT 

ANSWER  
 

 

 

 

ROT 

 

 


